| WEDSTRIJDSCHEMA DRIEBAND COMPETITIE KLASSE B

Ronde Nr. Thuis Gem Car - Uit Gem Car  brt Car Gem Hs Match pnt Pnt tot
B1 Henkvan Dijk 0,275 12 - Henk Maas 0,225 10 34 10 10 0,290 0,290 2 3 0 2 0 2

1 0,000 0,000 0 (0]
B3 Frans Verhees 0,260 11 - Martijn Dekkers 0,250 11 25 5 11 0,200 0,440 1 3 0 2 0 2

B4 Riny Sauve 0,260 11 - PietJeucken 0,251 11 40 5 8 0,120 0,200 2 1 0 2 (0] 2

B5 Piet van den Heuvel 0,233 10 - Frans Verhees 0,260 11 39 2 11 0,050 0,280 1 2 0 2 0 2

7 B 6 Martijn Dekkers 0,250 11 - Riny Sauve 0,260 11 31 4 11 0,120 0,350 1 2 0 2 (0] 2
0,000 0,000 (0] (0]

B8 Henk Maas 0,225 10 - PietJeucken 0,251 11 37 10 11 0,270 0,290 4 4 1 1 1 1

0,000 0,000 (0] (0]

3 B 10 Frans Verhees 0,260 11 - Henkvan Dijk 0,275 12 15 11 6 0,730 0,400 4 2 2 0 2 0
B 11 Riny Sauve 0,260 11 - Pietvan den Heuvel 0,233 10 28 11 9 0,390 0,320 3 5 2 0 2 0

B 12 Piet Jeucken 0,251 11 - Martijn Dekkers 0,250 11 25 6 11 0,240 0,440 1 3 0 2 (0] 2

B 13 Piet van den Heuvel 0,233 10 - PietJeucken 0,251 11 40 9 10 0,220 0,250 1 2 0 2 0 2

B 14 Henk Maas 0,225 10 - Martijn Dekkers 0,250 11 16 5 11 0,310 0,680 1 4 0 2 0 2

4 0,000 0,000 (0] (0]
B 16 Henk van Dijk 0,275 12 - Riny Sauve 0,260 11 35 12 9 0,340 0,250 4 2 2 0 2 0
0,000 0,000 (0] (0]

5 B 18 Piet Jeucken 0,251 11 - Henkvan Dijk 0,275 12 36 11 4 0,300 0,110 2 2 2 0 2 (0]
B 19 Frans Verhees 0,260 11 - Henk Maas 0,225 10 13 11 3 0,840 0,230 2 1 2 0 2 0

B 20 Martijn Dekkers 0,250 11 - Pietvan den Heuvel 0,233 10 25 8 10 0,320 0,400 1 2 0 2 0 2

B 21 Frans Verhees 0,260 11 - Riny Sauve 0,260 11 27 2 11 0,070 0,400 1 4 0 2 0 2

6 B 22 Henk Maas 0,225 10 - PietvandenHeuvel 0,233 10 40 8 9 0,200 0,220 1 3 0 2 (0] 2
B 23 Henk van Dijk 0,275 12 - Martijn Dekkers 0,250 11 30 8 11 0,260 0,360 2 3 0 2 0 2
0,000 0,000 (0] (0]

0,000 0,000 (0] (0]

7 B 26 Piet Jeucken 0,251 11 - Frans Verhees 0,260 11 17 3 11 0,170 0,640 1 3 0 2 0 2
B 27 PietvandenHeuvel 0,233 10 - Henkvan Dijk 0,275 12 35 10 7 0,280 0,200 3 2 2 0 2 (0]

B 28 Riny Sauve 0,260 11 - Henk Maas 0,225 10 40 9 6 0,220 0,150 2 1 2 0 2 (0]




